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(1) Evaluate the limits:
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(2) (a) How fast is the area of a rectangle changing if one side is 15 cm long and is de-
creasing at a rate of 3 em/s and the other side is 10 em long and increasing 4 cm/s?
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(b) Two numbers have sum 20. What are the numbers if the product of the square of one
and the fourth power of the other is as large as possible?
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(3) Evaluate the integrals:
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(4) Let y = ;C

(a) Determine the domain and intercept(s).
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(b) Determine the asymptotes(if any).
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(c) Find the intervals in which the function f(z) is increasing arj;/d?reasing.
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(d) Find the intervals in which the function f(z) is concave up and concave down.
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(e) Sketch the graph of f(z).
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